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Best model for HELP J100235.074+023123.50 at z = 0.607 x?=12.72

d (OPT IR)=12.85 [um]

OPTx2=11

.55 IRx?=18.56 threshol

2 _' o I Stellar attenuated '_
10 —  Stellar unattenuated [
[ CIGALE — Dust emission '
[ A |I| — AGN emission
1 ' = Model spectrum
10 3 L e0®¢ Model fluxes
F [T1[1] Observed fluxes
10°} .
-1 SN m
10 E r,/"EDI ; E
't - - 3
n -
[ (=) :
2 G A
< L N |
10 AN E
\
\
-3 \
10 N 3
\
[ N\
4 \
10 N .
AN
1.0 b————++ t +H et et -+ ]
- +— (Obs-Mod)/Obs :
0.5} /ﬁ* 3
0.0Ffk /- === N-=---—s=fF-d o o]
—-0.5F .
~1.0b—— '

10°

101

102 103
Observed wavelength [pm]

104



